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PYNAMICS

Pynamics deals with the motion of- boolies undey the
action of fovces - Tt has ﬁno dehDCE* parts - kinermatics apd)

Kinetics -
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MOTION oF WET
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g: A siopie pendulum s vel velensed from Yest b 4 coith
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MecHANICAL  VIBRATIONS o Sy |
Vibration of a minmcol | sgs'terb vesults when a
system is displaced From ks, R)sigot) of stable equilibriuy.
The system tends fo vetuyn 0 its eguiliviurm  position due
o the actiom of TeSEo'Tir)% FOTEe £
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Free Vibyation
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Foveed vibyation

Free vibyvation:

If a disturbing foree & appliect Just to Svelg
otion ard is thep Temoved from the Ytenm

leavi‘r)ca 16
to vibrate by itselt, the wygerm is sid o arderyo free
Vibration . |
Yorced vibration -

Lf the dlistrbing foce adts ot peripdic ntervals
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Degrees OF FAeedom :

T is the nurober of indeperxent: coovd i notes |
Yequived to define the @nfigurabion op the System. A wigid

body in space hos  six deqrees op Breedom
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UNDAMPED FREE VIBRATIONS OF SPRING ~MASS SYSTEM

let the displacement o mass wf be W
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A tray ofF mass ‘8 is mounted on spriPgs as shoon D
Fgurve. The. peviod) of vibrobore  ofF emptg bty is O- ‘53@2-. .
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Stiffoess of sping is mve:rselg pmpomumJ to the
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Retiodic.. Motion . .

T Any ootion c,o\mch 'vePeats after eq}ial intewals ot
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e simple. bamonie |, it shou\d sc&\sﬁ:, e 3@3@@ copditions:!
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Consider o particle  moving along  the circumefererce
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